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MCQ

1. a. What should the objectives of social protection be?

2. c. Shouldn’t everyone be able to earn enough money through his/her work?

3. a. His opinion is that we should reduce social protection to increase incentives to work.
4. b. What could the implications of the current demographic changes be?

5. c. If there were more job opportunities, there might be less need for social benefits.

6. a. Some emerging countries need to increase women'’s educational level in order to
improve women'’s place in the labour market.

7. c. The relationship between social protection and changing demographics will be
addressed in our report.

8. a. Britain’s figures are based on official aggregated data.
9. c. The weight of pensions on GDP is expected to rise in the future.

10. b. The level of pensions will be affected by economic growth.
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